5.

L

Chol £3t

fuju

ECE)

OIALHAL (r +a)? = b o B LR o,
a,b o theted o+ b ©] S Patedet.

S oA F 7k §47t obd ALY

@ (z-3)2=0
® 22 +62+9=0

® (z+6)(z—6)=9

2ol TSt oA A 222 — 11z +a =09
2 ), 00 kg PoHA?

e
rl
i)
[SV)

O 14 @ 13 ® 12 @ 11 ® 10
5 5 z = —3°] o7} B o] AP A2 (Y 2
7H)

® z(z+2)=0 @ 22 +2x-3=0

@ 224+524+6=0 @ 222—2—-1=0

® 222 4+4=0

o‘l _].H(J-Fg/;} 72 +10x—24=0 '% %(ﬂa—

6. FHATA={2r|2+5=0},B={z|32—-1=0}°
tdiote] A& {z| Bz —1)(z+5) =0} = &7 I
A2
ON; @ AuUB ® ANB
@® A-B ® B-A

| CY/ER=EIE ]

7. oA A 520 —3)2? —5(4a® - 9)x—4(2a+3) =0
o] gt o] 1 & o, & g L& Foteleh (B a =
44r)

8. oA AA 22 —2ax+a®> =09 5t Zo] 2L W, a

o gke Totelet.




